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Unit 6 Word Problems
1)  Tyler and Melissa each have gumdrops.  The amount that Tyler has is equal to five more than the amount that Melissa has.  What is the number of gumdrops that Tyler has if there are 31 gumdrops between them?




2)  Three times the sum of a number and 1 is equal to 21.  What is the number?



3)  Hannah is half as old as her aunt.  The sum of their ages is 42.  How old is Hannah?




4)  Henry ate two less than triple the number of candies that Noah ate.  If they ate a total of 30 candies, how many did each person eat?





5) [bookmark: _GoBack] A person spots 25 birds and squirrels in the park.  If there are 3 more squirrels than birds, how many of each animal is in the park?





6)  At a middle school there are a total of 210 students who participate in the newspaper club and the yearbook club.  6 less than 3 times as many participate in the yearbook than the newspaper.  How many students participate in each club?
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"Did you know that a spell checker is
useless on math word problems?”




